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ESed
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A=W (kg)

WA 23.2 JtiEE 19.0 2,160 1,512 1,512 10| MYa LL
LA HF & 4.2 1,728 - 1,296 10 a9y LL
IZALCA 35.8 JtiEE 35.3 — 1,836 — 10] Y19 M
IZALCA f = 0.5 - 1,296 - 10 L
ES) 0.5 BERE 0.3 1,512 1,296 1,080 2l A M
ES) g & 0.1 5,832 - 5,400 10
(<& 22.6 E % 21.6 3,024 - 2,808 150 A L
HT R 1.2 2 [ 0.7 2,592 2,592 2,160 4] A L
_E2h 9.4 BRE 5.2 2,484 2,376 1,836 A M
FrRY 69.1 B E 64.2 1,415 1,188 1,080 10 a9y 8
FrRY E % 2.3 1,512 1,296 1,080 10 A L
IEF5NAZS 1.4 = % 0.1 389 302 302 02 A L
=z 7.8 ] 0.7 756 - 648 3
_h¥E 1.4 k& 0.9 3,888 3,888 3,240 3 L
125 2.8 ElE 1.5 5,400 4,860 4,320 5] Y1y
+)L!)— 1.3 £ % 1.3 - 2,160 - 10 A LL
TFRINTHR 1.4 = B 0.1 — 108 — 0.2 S
LA2R 24.8 £ H 21.5 4,104 3,456 3,240 10 A 16
LA =M 1.6 1,728 864 864 4 A L
FoaroHA 1.1 BERE 0.7 3,024 3,024 2,808 4] A L
=pol) 18.3 ERE 0.5 2,160 — 1,944 5/ A L
=iy S 12.4 - 151 - 0.8
MEE® 40 ERE - - - FLR
MEE® JtiEE 40 2,916 — 2,376 10 6
s 7.9 BERE 1.0 — 2,160 — A LL
He BE X 6.0 2,160 1,620 1,620 5] A 32
k< k 15.4 X 5 7.0 3,564 3,024 3,024 KT 24
k< EEES 6.0 3,024 2,808 2,700 A IPEY S
eSS 49 B 1.5 270 259 248 0.2] a9 M
S—kThk ERE 1.3 259 238 238 02 A M
F—<y 4.1 X & 1.7 97 — 92 0.15] A LL
EF—<y = % 0.9 4536 3,791 3,240 39 A M
V. 0.8 BRE 0.8 108 70 65 0.3
IZH5Y 1.6 ERE 0.8 1,404 864 756 3 A M
SPVAITA 0.6 = % - 5,400 - 5 C M
hAL& 5.5 EEES 3.1 1,836 1,728 1,674 5 LL
MhALE BE K 2,106 2,052 1,890 5 M
IEhiL& 19.2 JtiEE 19.2 2,052 — 1,728 10| Y19 L
[EhiL& JtiEE — 1,728 — 10| Y19 LM
=& 0.4 BRE 0.3 3,240 2,700 2,160 5] A
BEHLE 8.0 JtiEE 8.0 5,184 - 4,968 10f A LL
f-EhE 22.1 JtiEE 20.0 4536 3,996 3,996 200 A L
f-EhE JtiEE 1,404 — 864 10
f-EhE th 2.0 — 2,700 - 20 L
1IZA1z< 0.4 t H 0.3 - 4,428 - 10 4L
ELLV=F 1.9 ERE 0.1 — 108 — 0.1 A L
ELLV=F £ & 0.7 — 173 - 025 ™ M
ZDEET 12.1 =l 2.6 27 — 22 0.1
LHL 2.9 12 @ 2.4 97 76 65 0.2
FFERLE 346.6
BE

= g & B & = & E & = B 8

ATTE®) ( (kg)

BINAMAET 13.3
INGRH DA 0.5 ERE 0.5 2,160 - 1,836 5| 7hva L
INDRH A BERE 5,400 — 4,860 5| 7hva M
INDRH DA ERE 5,940 — 5,400 5] 7hva S
LEY 1.7 F Y 0.5 7,344 7,020 5,400 17 115
INLUTT 0.6 = M 0.6 7,020 6,804 3,888 17 88
LTI 0.2 m72Y 0.2 5,184 — 4,320 15 40
YACE 6.6
23 4.6 T & 4.6 5,616 4,860 4,752 10[ FA 40
HARZLET 15.7
25K 0.8 X & 0.7 — 4,320 - 10| 74va 20
ZFDHEL 11.6 k& 4.7 2,592 2,160 2,160 5| 7hva 5L
3EEt 0.1
33 0.1 E % 0.1 — 5,616 - 5| 74¥a 16
3535 0.1
TIL—> 0.1 E % 0.1 — 324 - 04 v19 5
SESE 2.2
Big 0.5 £ % 0.5 540 486 432 0.35] Y19 40
EA—=> 0.4 T 0.4 7,560 - 7,020 A IED] 9
=P 1.0
7—JLR 0.5 BE X 0.2 - 5,400 B 8l vay LL
FDHAOL 0.5 JtiEE 0.5 8,424 6,480 6,480 8l vay
INFF 14.1 == 13.8 5,584 3,564 3,285 15
INMFYTIL 1.3 EYEY 1.3 3,456 3,240 2,808 10 8
FoA4)LY 1.3 - 1.3 6,156 - 4,050 75 4
RERE 68.3




